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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1abc 90 8.3 3.5 19 43.5 100
1d 86 0.9 1.2 6 14.5 95.6
2 90 6.2 3 16 38.8 100
3 89 3.8 2.2 12 31.6 98.9
4 89 2.7 2.2 12 22.7 98.9
5 88 1.7 2 10 16.9 97.8
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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 Question Marking details 
Marks Available 


AO1 AO2 AO3 Total Maths Prac 


1 
HT


(c) 
FT 


(a) 
HT


(i) 
Temperature = within range of -109 to -66(1) 
orbital time = within range 688 to 4 330 (1) 


2 2 2 


(ii) {Mass / diameter} smaller than the moon / smallest mass / smallest 
diameter 
accept 'smallest size' 
do not accept 'it is small/smaller' 


1 1 1 


(iii) Scales: x-axis in intervals of 1/ 2 cm and y-axis in intervals of 10 / 2 cm (1) 
5 plots correct ± less that one square tolerance (2) 
4 plots correct ± less that one square tolerance (1) 
3 or fewer plots correct ± less that one square tolerance (0) 
smooth curve (1) 
ignore extrapolation 
Do not accept thick/sketchy/wispy lines 
Do not award marks if incorrect variables are plotted or planets in incorrect 
order or bar chart 
If x-axis is labelled 'planets' do not award scale mark 
Moon plotted = neutral 


4 4 4 


(iv) Orbital velocity decreases with distance / this graph curves downwards(1) 
(To be proportional) line must be a straight, upward and through origin (1) 


2 2 2 
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(d)
FT 


(b)
HT 


(i) (Sunspots) are cooler (1) 


+ Any 1  (1) from: 
so do not emit as much light (1) 
OR 
( magnetic field) blocks hot gases reaching the surface (1) 


1 
1 2 


(ii) Electricity supply could be affected/power cut (1) 
TV / radio / mobile phone/satellite/communications affected (1) 


2 2 


(iii) Number of sunspots (in each cycle) is different (1) 
and flares are linked with sunspots (1) 


2 2 


(e) 
FT 


(c)
HT 


Statements about one model implies the other model is different: 


Any 4  (1) from: 
Aristotle: (converse for 2006 model) 
Earth at the centre of the Solar System / geocentric(1) 
Sun and planets orbit the Earth (1) 
Only one moon (1) 
Less planets (Absence of Uranus / Neptune / Plutoids) (1) 
Absence of asteroid belt (1) 


4 4 


(d) 
HT


(i) Lines are red-shifted (1) 
All galaxies moving away (from the Earth)(1) 
The more distant the galaxy the faster it moves (1) 


(ii) {Same / similar} pattern of lines(1) 
So {same / similar} chemical composition(1) 
As each set of lines corresponds to an element (1) 


Question 6/1 total 3 11 11 25 9 0 












Sticky Note

Both answers within the acceptable range. (2)



Sticky Note

Scales, plots within tolerance and curve all OK (4). 



Sticky Note

Pluto does have gravity (0).
Check table 1 in the pre-release article. Compare the diameter of Pluto with all the other planets and the Moon. What do you notice? 



prices

Sticky Note

Unmarked set by prices







Sticky Note

This is a true statement but it's not the complete answer (1). What does a graph look like if one variable is proportional to the other?

















Sticky Note

Both answers within range. The temperature was read as 70. (2)



Sticky Note

It is correct to say that Pluto is now classed as a dwarf planet. However, part (a) begins by stating "Use the information in table 1 to answer the following questions'. This has not been done. What is the information in table 1 that led to this change in classification for Pluto?



Sticky Note

The distance scale is not linear. It does not go up in equal steps. The values from each planet have just been copied on the axis at each big square. The vertical scale makes it very awkward to plot points correctly. The line is point to point (0).  







Sticky Note

This is a correct statement about the relationship between the variables. However it's not the complete answer (1). What does a graph look like if one variable is proportional to the other?













Sticky Note

This answer for temperature is the value on Jupiter. The orbital period is the value for Mars. (0) Between the orbits of which 2 planets is the asteroid belt found? The answers here should be somewhere between  the values for those planets. 



Sticky Note

Does the data in table 1 of the pre-release agree with this statement? It has not answered the question (0). 



Sticky Note

Scales, plots within tolerance and curve all OK (4). 







Sticky Note

This is a correct statement about the relationship between the variables. However it's not the complete answer (1). What does a graph look like if one variable is proportional to the other?
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Section A


Answer all questions in the spaces provided.


Use the information in the separate Resource Folder to answer the following questions.


1. (a)	 Use the information in Table 1 to answer the following questions.


(i)	 Europa is an asteroid. Estimate its temperature and orbital period.	 [2]


Temperature = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . °C


Orbital period = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . days


(ii)	 Pluto is no longer classed as a planet. State one reason why.	 [1]


(iii)	 Plot the points on the grid below to show how the orbital velocity of the five planets 
Mercury, Venus, Earth, Mars and Jupiter depends on distance from the Sun. Draw 
a suitable line.	 [4]
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(iv)	 Orbital velocity is not proportional to the distance from the Sun.
Explain how your graph shows this to be true.	 [2]


 


19


Examiner
only



















































© WJEC CBAC Ltd. 10 


Question Marking details 
Marks Available 


AO1 AO2 AO3 Total Maths Prac 


3 (a) Indicative content: 


Collect some water in a large container – about 2-3cm deep. 
Collect samples of invertebrates using the net and transfer them to the tray.  
Study the organisms in the tray and try and identify the invertebrates against the 
chart. 
Record the number of each invertebrate that has been caught.  
Compare with the key to determine water quality according to numbers of 
indicator species present. 
Pour them and the water gently back into the stream. 


5– 6 marks 
Comprehensive account of the method of collection and determination of water 
quality and reference to conclusions. 


There is a sustained line of reasoning which is coherent, relevant, substantiated 
and logically structured. The candidate uses appropriate scientific terminology 
and accurate spelling, punctuation and grammar. 


3 – 4 marks 


Full method of collection and how to determine water quality OR most of method 
and conclusion.  


There is a line of reasoning which is partially coherent, largely relevant, 
supported by some evidence and with some structure. The candidate uses 
mainly appropriate scientific terminology and some accurate spelling, 
punctuation and grammar. 


1-2 marks 
Limited account of collection method or how to determine water quality. 


There is a basic line of reasoning which is not coherent, largely irrelevant, 
supported by limited evidence and with very little structure. The candidate used 
limited scientific terminology and inaccuracies in spelling, punctuation and 
grammar. 


0 marks 
No attempt made or no response worthy of credit. 


6 6 6 
















Sticky Note

This part mentions counting the invertebrates but it is vague. Does it mean count the total number or count the number of each type?



Sticky Note

States a basic method of collecting samples but does not refer to the use of a net. 



Sticky Note

There is no mention of using the chart on page 8 to identify the invertebrates that are found and matching the results with a water quality.





Sticky Note

The answer has partially described the method to just get into the middle band (3). Can you write a couple of sentences to raise the mark to the top band? 
















Sticky Note

The description should cover all the points below:


HOW TO COLLECT INVERTEBRATES
HOW TO IDENTIFY THEM
RECORD NUMBERS IN A TALLY CHART
CONCLUSION FROM TALLY CHART AND KEY
POUR BACK IN WATER


This account was given a middle band mark (3). 
Which points have been included?
Can you add more detail to cover the other points?
















Sticky Note

It mentions taking water samples but not how to collect invertebrates. 



Sticky Note

There is an attempt to describe how to reach a conclusion but it is vague. For example, sample A is compared with sample B. Can you conclude sample B is moderately polluted because it contains less Stonefly nymphs than A? Would you need further evidence?



Sticky Note

The description should cover all the points below:


HOW TO COLLECT INVERTEBRATES
HOW TO IDENTIFY THEM
RECORD NUMBERS IN A TALLY CHART
CONCLUSION FROM TALLY CHART AND KEY
POUR BACK IN WATER


This account was given a bottom band mark (2). 
Which points have been included?
Can you add more detail to cover the other points?
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3. Water pollution can be monitored using invertebrates as indicators. Some indicator species are
shown below.


Water quality Indicator species


Clean water


Stonefly nymph Mayfly nymph


Some pollution


Freshwater shrimp Caddisfly larva


Moderate pollution


Water louse Bloodworm


High pollution


Sludgeworm Rat-tailed maggot


Very high pollution No life


Examiner
only


(Not drawn to scale.)







(3445UB0-1) Turn over.
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(a)	 Describe how you would carry out an investigation to determine water quality in a stream 
using invertebrates as indicator species.	 [6 QER]


Examiner
only
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Question Marking details 
Marks Available 


AO1 AO2 AO3 Total Maths Prac 


5 (a) (i) High frequency / high energy / short wavelength (1) 
electromagnetic wave (1) 


2 2 


(ii) Easily pass through the body / highly penetrative(1) 
with low ionising power (1) 


2 2 


(iii) Thallium–(201) (1) 
because it will decay quicker than the others / won't be exposed 
to radiation for too long(1) 


Do not accept shortest half life 


1 
1 2 


(b) 1 
1


2



1


4



1


8



1


16



1


32
(1) 


= 5 half lives (1) 


time = 5 (ecf)   17 (ecf) (1) 
ans = 85 days (1) 


only allow ecf if first line arrives at an answer other than 5 and is 
shown 


4 4 3 


Question 5 total 4 5 1 10 3 0 












Sticky Note

Both marking points are included i.e. high energy (1) electromagnetic waves (1). The rest of the answer covers properties and should not have been included. However, on this occasion, students were not penalised for adding unnecessary information. 



Sticky Note

Gamma rays are highly penetrative is correct (1). Also gamma rays have low ionising capabilities so will cause minimal harm to healthy cells. This would have earned a second mark but for the additional statement that they have short half-lives. Sometimes this maybe true but other times it is not. 



Sticky Note

Correct radioisotope selected and a suitable explanation (2). 







Sticky Note

The sequence shows correct halving until 1/32 is reached. The correct number of half-lives has been found. 17 days has been added each time. The final answer is correct (4). Halving the energy each time from 21 to 0.65 is strictly not correct but it obviously helped the student go through the sequence of halving. This did not attract a penalty. 













Sticky Note

Gamma rays do have a wavelength even though it is very small. This answer attempted to describe the properties of gamma rays rather than their nature. If it had said high energy radiation then a mark would have been given. 




Highlight



Sticky Note

The statement that gamma rays pass through the body is equivalent as saying they are very penetrating (1). Why do they cause very little harm when used in this way?



Sticky Note

Correct radioisotope selected and a suitable explanation (2). 







Sticky Note

The student decided to start with 32 and halve this over and over again. This is fine. The sequence is correct but a mistake has been made in counting the number of half-lives. What number is 1/32 of 32? Where should the student have stopped counting? 

Even though the number of half-lives is incorrect, this value (error carried forward) has been used in the next stage of the calculation to find the time (2).












Sticky Note

These are properties of gamma rays not their nature (0). 



Sticky Note

The statement that gamma rays penetrate the body is fine (1). Why do they cause very little harm when used in this way?



Sticky Note

Correct radioisotope selected (1). Thallium does have the shortest half-life but why does this make it the most suitable to use? Which radioisotope decays quickest? 







Sticky Note

The sequence shows correct halving until 1/32 is reached. The initial number 32/32 is not shown but it does not need to be. The correct number of half-lives has been found. 17 days has been added each time. The final answer is correct (4). 
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5. Nuclear medicine involves the use of radioactive substances in the diagnosis and treatment of
disease. Nuclear medicine records radiation emitted from within the body rather than radiation
that is generated by external sources like X-rays. Nuclear medicine scans differ from radiology
as the emphasis is not on imaging but on organ function.


Information about some isotopes that emit gamma (γ) rays is given in the table.


Radioisotope Half-life Energy of γ rays


caesium-137 30.17 years 0.662 MeV


cobalt-60 5.26 years 1.17 MeV


iodine-125 59.6 days 31.4 keV


thallium-201 73.0 hours 71.0 keV


palladium-103 17.0 days 21.0 keV


	 (a)	 (i)	 Describe the nature of a gamma (γ) ray.	 [2]


(ii)	 Explain why radioisotopes that emit gamma rays are suitable for examining organ 
function when injected into the body.	 [2]


(iii)	 Explain which is the most suitable radioisotope from the table to inject into the 
human body as part of a gamma camera investigation.	 [2]


Examiner
only







(3445UB0-1) Turn over.
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(b)	 In order to treat prostate cancer, palladium-103 pellets are placed directly into the prostate 
gland. They remain permanently in place. The gamma emissions from the pellets are 
almost undetectable when their activity drops to 1/32 of its original value.
Calculate the time taken for this reduction to occur.	 [4]


Time = . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . days


END OF PAPER
10


Examiner
only
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HIGHER TIER 


SUMMARY OF MARKS ALLOCATED TO ASSESSMENT OBJECTIVES 


Question AO1 AO2 AO3 TOTAL MARK MATHS PRAC 


1 5 11 9 25 9 0 


2 10 3 3 16 4 0 


3 6 4 2 12 0 12 


4 5 7 0 12 4 0 


5 4 5 1 10 3 0 


Total 30 30 15 75 20 12 











